S/-/8 4%

WBip 214 =z B 2% H

i
- — LJ__) ('\:—/< ,’l
Wﬂr'q AUAN \*ft
&3 lk_ . \osd 1 ~3
e SN
: 5L
(e A e
I 1
To- (WAt s | 8] €
e | gy | 3WEx | 19 x

20.58

"Cr‘
S e '.“‘.'\
— 0 N

=T
Vex i

/21
|
77I7

VATV LA
= q
/4 5L

Z3/
=
__A:::
__q_
254

-
=

WZEE:

2./ F

=

it —_’__J_,__——'-
__——7;"?/—___. //-27

Eﬂi

COEEZR. THREEEELCETISEERE LTEELTLET,
OHEE T ASEOLOTHY ., BEORKREELEFELIBENHYET,
OHEZHICL->T, BRENEESNDLOTESLY £ A,

34.20™= |0.341F
8.34




S R T |
? = ey R
: 66,53 A

[6CA= 95285 £ pAC= 2|8 :
A ABC B = ! x 0.[px66.58 % sin -85 =4,305 "
AB:W‘ Brbb55% zxo_]3;<g,(,53x&4f5_55= L4659

Co 0.13 x _sm F5- £F B, Aoe
Ui ., 6658-2px owps-53 A
[BAD=(92-18) — (6207) = 97_
(72-18) = (0%07) = 921/ : s 4,\4
D B = ) X004 x4 57xsmp7=11=/33/
R i ABCD+ LG = 4905} 53/ "2 5 636™
BD- % 659° Sara i = ek
]/qoq + 66 7 2% .143&{5_\{7:5‘4% i/ 1:?7057.484 [ foc b~ (ras7ey x dao = 403 JeC [ ~§ (Joco2)x (600 = foo ‘. A= _-)733.7; /
S \_fﬁ;ﬁ ‘j=-'?oo.$‘£.f bavh~ 58 (0.1222) X 2,00 = ;;’.fl (+ i Lan /-1 5 (a.oz.m)xz.aozjzzg | N’i/ol g= 222 z/f
x| pr~oxp3 } £2.7¢ ”-W“‘; §§ 5
SY R/ sm 83-01=9.99 671817 ]
P — 'leg 49.70= 8432525 LRI N &
5 e CERIE T Rl - T
&8 3181844k = 52000/ : sls 3%
| T3 b2 oot 714299998500, AN . ¥ ‘
e i B 6t 58=|.32237478 & el
J o e leg z6.6]=|.2140780(+ ; N\
\\ T =z 1970710 e
N 251 s =B 7)) s =685 555 eadi
N = on
) © wp D
a0 ) &S =
23% | s £l
= SaE
33 NR
R e | | &S
9 | 2/ ~00 T
“:}i; | pE—tt=2 L Zkey T e  5a am b
K= 3666, T R ~13(1.0008)x [0.00= |00] odq /™ iy
o Y= -z80. {z0 fecs-5] (’-“*4)“4"”4”‘2 ﬁfi:g{(,a.uanz));mowu.qz(- [ J=-2¢8, 4_“""! e |
tan 5-5] (0.[038) xf8.00 = zié (- 9.29 : e
24t
Z
2 +% *
o~ E) B Fa gbo oo + £85535 - 5436 =/437,7z”’(x4;pz;=455§5—7 *‘)=4;553¥
o
é;'l ”

34 207 (x0,3028= 0 34%F )= g0 4
i’i 5 JA ok 72)”}()(&. Jo28= 4z 23 tzf); 4{25' /[_;"f?

o 0
Q
N[ commBi. tHREBEESEIETSSEREL L TRRLTLET. )
0 OHEFFTHMMASFOLOTHY ., REDKREEIRGTHBENHY FT. L
3\ ORE$IZ&>T. BEFHKBEINZLOTEBY F€A, W

- -



	page1
	page2

